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GENERAL INSTRUCTIONS TO THE EXAMINEES :

(1) e aeder ST A A TR o |

Candidate must write first his/hér Roll No. on the question paper compulsorily.

2) @ ¥ g B AER F |

All the questions are compulsory.

A3) mmﬂ;ﬁ;aﬁm—g@mﬁiﬁﬁa@ |
Write the answer to each question in the given answer-book only.
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(4) 5 sl A o wvs &, 39 @it & e o aner  ford |

For questions haﬁng more than one part, the answers to those parts are to be written

together in continuity:.

(5) - & R 9 oish wuiat # freh werr <t 7fe /a7 / Rt e 8w R e 3 v
Hada | | '

If there is any error / difference / contradiction in Hindi & English versions of the

question paper, the question of Hindi version should be treated valid.

(6) I HARD 16 | 22 | i e & |

There are internal choices in Q. No. 16 to 22.

g g - A
SECTION - A
1. wgfomedt g9 :
f= sl < ST Wt ferehed = w5 STR-gfn o e -
Multiple Choice Qu;:stions 2

Write the correct option of answer of the following questions in the answer-book >

St s 3 Gl T Fe 31 oieh B -

(SNl @ 2

@ 3 @ 4

Fe + H,O0 — Fe;0, + H,

Coefficient of Fe in balanced equation of the above reaction will be
A) 1 (B) 2

() 3 (D) 4
S-07-Science '
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(i) <& o 3l arer § -
() arafer an (@)
(@) AN ant @)
An acid present in curd 1s

(A) Oxalic acid (B)
(C) Methanoic acid (D)

(ili) ST T oY =BT AT & —

(37) H | ()
@) HHl @)
The best conductor of heat is '

(A) Copper (B)
(C) Mercury : (D)

(iv) 1o & 3uflra SR a8 & -
(31) —OH ()
@E=C 4 ] @
'g' [
AN o

Functional group present in ketone is

(A) —OH (B)
o |
( i

N,

S-07-Science
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Tartaric acid

Lactic acid
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(V) W ¥ g Ueh o 1 W R, St wafera & —
(31) Wy (@) Icaei A
®) Yo @ o
The heart in human beings is part of the system for
(A) Nutrition (B) Excretion
(C) Respiration (D) Circulation
(vi) Wt & 55 3 gom o e 8 %1 it Reershs gra e & 7
(37) ERdaeT® (®) STge™
@) TR @) v
Who does the work of opening and closing of pore in leaf ?
(A) Chloroplast : (B) Xylem
(C) Guard cell (D) Phloem

(vii) &t 37q-aeft oty wft 3 o 9 e st 2 ¢
(37) tﬁqsruf?u (@) s TR
@) TEHe ufy iy (]) =™

Which endocrine gland stimulates growth in all organs ?
(A) Pituitary gland
(C) Adrenal gland

(B) Thyroid gland

(D) Pancreas

(viii) T 957 & Yoher Tt Bt A Sufdra B &, al g9 FHgera § —
(3) umferft (¥) TR

@) IR, (@) WA

- Flower called, when the flower contains both stamen and pistil
(A) Unisexual

(C) Bisexual

(B) Self-pollination
(D) Cross pollination
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(ix) g9 3 foim 7o o & -
(1) XX @ XY,
®) XXX @ YY
Men have sex chromosomes
(A) XX (B) XY
(C) XXX (D) YY L

(x) e s e i @ 3 e quas) & | safi e sk st 3 o g e i deft -
30 L5 (® 6

@ 3 : @ 9

A man is standing 3 metre away from a plane mirror. The distance between the man

and its image in metre will be
(A) 1.5 (B) 6
©) 3 D) 9 . | 1

(xi) mmﬁqﬁmﬁaﬁsini=a3ﬂtsinr=b§,a’tmaé=ﬁa;(p)g‘m,—

(3) p=ab @ p=

\[ab

In the phenomenon of refraction of ‘light, if sin i = a and sin r = b, then refractive

(@ u

o |®

@) p=

index (u) will be

' b
A) p=ab B) u-y
© n=j (@) pab | t.
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(xii) 37firm pitea wd freifora waten st o2 —

(37) el (@) argHEA I,
@) fogmu \ (@ Ed
Advance sunrise and delayed sunset are due to
(A) scattering (B) atmospheric refraction
(©) dispersion - (D) reflection
(xii) T Y Pryaer firem 3 for ferem s 2

(3) e (0

() X (R r

The angle of deviation for the given triangular prism is

Incident ray

Q R
(A) e : B) i

{(C) i D) r
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(xiv) Ferepa SaToR 2 sgeiuehs arC (3l 1 I P e 2

37 o s wad @) FERITAHEIH

(@) RFHEIH @ P Fead

Earth wire is used in the electric instruments as

(A) electricity saver (B) safety measure

(C) fuse _ (D) regulator 1
(xv) T e 3 R e e e P 3 s e — |

(37) FehrE &= <A femm @) gt F gaehra & < femm

@) forega uma At fem @ A BT

For a current carrying conductor, in the “right hand thumb rule”, the thumb points

towards the
(A) direction of magnetic field.
(B) direction of earth’s magnetic field.

(C) direction of electric current.

(D) None of these ! JH '/H A 1
N —C—cC ’KC/M '
: et
25 ﬁﬁmﬁ‘ﬂﬁiﬁm A “\

Fill in the blank places :
(i) oie TR % FHf frelio @ W AEgeH R A H AW N, R |
Name of the nitrogen containing gas obtained by thermal decomposition of lead

nitrate 1s ; : _ ; 1

(i) HC/% friiom & e Feomaa 1 @S g (1= R

Chemical formula of anion obtained by dissociation of HC/ is : : 1
(iii) C3Hg 3] & S9FA Heaaloh JTTaHl 6l 86 T R |
Number of covalent bonds present in C;Hg molecule is ; 1
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(iv) " P s eghorf avefie el o) afer @ 220 v g Frerer i o g
21

An artificial kidney is a device to remove nitrogenous waste products from the
blood through

(v) DR % e e e ) e

wl X

HEAE |

The gap between two neurons is called a

S
(vi) i it Samd (h) 3R i 6 g (h) 1 srara Mol gdn w1 EET ucc";frm
.l

The ratio of the height of the image (h') and the helght of the object (h) is called
of the spherlcal mirror.

(vii) - qu framor § Tr(e0  SmIwarh darg |

lens is useful in correcting far-sightedness.

ST LTS T : (1 T I Teh W1, a1 o fay 3 iR 1)
Very Short Answer Questions : (Answer the questions in one word or in one line.)
(i) et o afe o wmer Pl ety urg @ m faRaw 1o E
Write name of the second metal mixed with copper in brass.
(i) TEH, S o ST & A <o ek 5w 3rag 1 AW R |

Select and write name of the liquid non-metal among sulphur, bromine and iodine.

(iii) CHy—C=CH® am fofaw | serorme
Write the name of CH; — C =CH.
: i Aty
(iv) WE TN T T F PR AT A TR E 7 TS STTE s

In which plant part resin and gum are stored ?
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(V). FITETSeh 1 I |1 N @RIgr, 17 3T U1 a0 i Frsor i 2 ? ’QQ';JMWC}}J”E;FT

Which part of the brain controls blood pressure, salivation and vomiting ? 1
(vi) 2 ey ife s 35 o 70 (AT el [T

Write name of two bacteria borne infectious diseases. I
(vii) Asd & wEon K aumifa fm % g A thﬁéftmrﬂ:ﬁﬁﬂ%qﬁﬁlw

Fgua/sfowa 38\ W)

" Inthe experiment of Mendel’s’law of inheritance of traits, the proportion/percentage
1

of dwarf plants found in plants obtained in F, progeny was
(vm)rﬁsﬁaﬁa%mﬁa{ﬁ(u),mﬁaqﬁ(v)mmqﬂ(f)ﬁmﬁf&m1 i/ e

Write the relation between object distance (u), image distance (v) and focal length

. (f) for a spherical lens.

(ix) ﬁawaﬁqmmﬂw%mﬁﬁaﬁam% ? 'J%“;Tr%m
Which part of the eye controls the size of the pupil ?

(x) TR & ITve 1 Teh IQTE feTiay I‘“waﬁ'"”é?f?f“

Write one example of consumer in ecosystem.

wE-
SECTION - B
SETHD T
Short Answer Questions :

4 NayCOsyy + 2HClpq —— [X] + H,0( + COy)
Iudaa SAffsear & A [X]wmﬁmmaqgmq |
Na,COs) + 2HC (i — —— [X] + HyO( ) + COy,

Write chemical name and formula of compound [X] in above reaction. 2
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5. “urgd foega ) guTes ad @ 1

IR HYA H W whern 3 R sy sraferd saawon @) i IR |

“Metals are good conductors of electricity.”

Draw the systematic equipment used for laboratory testing of above statement. 2

6. e hi T # Aot HUL T AT R W HIE G FiY &) A1 B 7 B A |

Why the cloth becomes clean on applying soap on the dirty clothes in presence of water ?

Write the reason. 2

7. el sy 1 e g s ) R R |

Draw electron dot structure of ethene molecule. 2

: f

8.  miftOya i St fafrat = gmemsu | {
Explain two methods of contraception. : ' 1+1=2

9. TG (IT) 7@ M (1) e 3 F, et o 5 oo 1 s 1 <y e e
T |

Draw a line diagram showing inheritance of traits upto F, .progeny between pure tall (TT)

and pure short (tt) plants. ' ’ 2

10. TH 10 Q Nfcliws § 3A °W 2 Yehvs qeh NaTRd hl STl 3 | USTH A IcI~ HHT HT TH T
i |

3A current is passed through a 10 Q resistor for 2 seconds. Find out the value of heat
produced in the coil.

\
2
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1. ﬁnwﬁuwﬁaﬁﬁgAaB%mg@uﬁﬁumaﬁm: |
|
ik W, }
—AMAMA——AAAA——
30 |
A e—AAn——] B |
6 Q ‘
Find out equivalent resistance between the points A and B in the following circuit l
diagram : 2
3Q 30
— M AAAA—
3Q
A e—An—— ——— [3
o oum |
6Q

12, Forelt e oo 3 S v T i e A e # et w0 fore R
ERIERY '

Draw diagram to show lines of magnetic field inside and around a current carrying
solenoid. 7-

13. U B Gueh & [oT¢ Goeh &= W@t o1 fo a8 | - l

Draw magnetic field lines of a bar magnet. 2

14. Vmﬁwﬁmﬁmmﬁ%aaﬁaﬁaﬁmﬁm

Explain two ways to managing the garbage problem. 1+1=2

15, SRR s ¥ Faftr adi Tl 1w 7o i |

Describe in brief different trophic levels of a food chain. 2
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SECTION -C
el IR WA -
Long Answer Questions :
16. (i) AT 311 IR =1 Tamafies g fftag |
(ii) S A W R 311 A war w6 @) S & 7 I9gdd TErfh FHiR S
HEAIST | |

(i)  Write chemical formula of Plaster of Paris.

(if)  Why Plaster of Paris becomes hard on mixing water ? Explain by giving suitable

chemical equation. 1+2=3
JYET/OR |
(i) Sifhm Fre1 %1 TS AT Rl |
(if) e eTram S wieft it 81 ST & 7 Suge AT T 3 Sy |
(i)  Write chemical name of baking soda.

(i)  Why cake becomes soft and spongy ? Explain by giving suitable chemical equation. ‘

1+2=3
11ﬁﬁm%ﬁﬁwﬁﬁmwﬁﬁmﬁﬁﬂmmmwmm@I
Which part of the brain controls involuntary actions ? Explain with an example. 1+2=3
AYET/OR
U1 A QAT §THIH BT ATH T & 1 GHATRT |
Write name and two functions of the hormone secreted by testes. - 1+2=3
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18 WIS & T4 G 1 Awifha frs wame |

Draw a labelled diagram of human male reproductive system. 3
AYET/OR
WIS & WG] I 7 1 A1wifha s s |
3

Draw a labelled diagram of human female reproductive system.

19. (i) Toga e s afonfya Hifw | sge 1o of fafa |
(i) Torge e & mro & Rorg A a1 a7 Hm it foran st 2 e 98 afe A e A A
ST ST ? ?

(iii) 30 % Frm & fvarr (V) w& fega 9w (1) & 793 T (F1E) 7759 |

(i) Define electric potential difference. Write its SI unit.

(ii) Which device is used for measurement of electric potential difference and in which
order is it connected in the circuit ?

(iii) Draw a graph between potential differenqe (V) and electric current (I) according to
Ohm’s law. 1+1+1=3

AYET/OR

(i) ﬁgﬂqﬁiﬁﬂaﬁmﬁaaﬂﬁqnm&msﬁml
(ii) ﬁgam%m%%qaﬁwmﬁawﬁﬁmm%w@mﬁﬁmmﬁw
AR 7 .

(iii) m%ﬁm%mm%mmwmﬁaml

(i) beﬁne electric resistance. Write its SI unit.

(ii) Which device is used for measurement of electric current and in which order is it

connected in the circuit ?

(iii) Draw a labelled electric circuit diagram to practical study of Ohm’s law. 1+1+1=3

| Turn over
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SECTION - D
[ERRIGER R
Essay Type Questions

20. (i) ﬁaﬁ%@@mﬁammw |

(i) SR (11 HATHATES + BIFGIH — T + 57

SYUFT WIog-Feftehor ot wigfora et wdentr fafian |

(iii) ST % g Mﬁmﬁm%mmmﬁ%ﬁﬁﬂﬁﬂ l

(1) Write name of the gas obtained on burning of coal.

(if)  Copper (II) oxide +.Hydr0gen — Copper + Water
Write balanced chemical equation for above wérd -equation.
(iii) Draw the systematic equipment for exhlbmon of oxidation of co

pper into copper
oxide.

1+1+2=4
JYa1/OR

(i) 3= Y aforfya i |
(ii)  HATIE + HTIT FHe —— A TeHe + HIR
wﬁmm—ﬂw%mmmmml

(i) TR Fethe F foreraa & gaft, R 61 Hielt €1 uﬁﬁm%m%mmm
=1 fafa Hife |

\

(1) Define reduction.

(i1) Iron + Copper sulphate —— Iron sulphate + Copper
Write balanced chemical equation for above word-equation.

(iii) Draw the systematic equipment for exhibition of reaction of iron nails dipped in
solution of copper sulphate.

1+1+2= 4.
S-07-Science
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2L (1) WeohTeI- GRS Wehe % A Hfa Hearal ) e |
(i) T uft & T shie 1 Aifha fr 74130 |
(1)  Explain the events occurring during the photosynthesis process.
(i)  Draw a labelled diagram of cross-section of a leaf. 2+2=4
AY¥a1/OR
() o & 3 & get @ wg a1 ) ik awEmse |
(i) e & 1 1 e o e |

(1)  Explain the process of opening and closing of stomata in leaves.

(i) Draw a labelled diagram of open and closed stomatal pore. 2+2=4

22, (i) chaadn fed wedd 7 /

(if) et adu 3y w0 afora SR |
(iii) = Tk oFa 6 &t + 4.0 D 2, A 6! Biohd gt 71 HIT |

(i)  What is a spherical mirror ?

(i) Define the pole of a spherical mirror.

(iii) If the power of a lens is + 4.0 D, then find its focal length. 1+1+2=4
39aT/OR '

(i) | EdA fRa FHEd § ?

(i) o % gea 3 ) aReia 6 |

(iii) fe Tiiefr gdur < Fshar BIseT 14 cm 2, At 3EehY Ik gl T HiTT |

(i) What is magnification of a lens ? |

(ii) Define the principal axis of the lens.

(iii) If the radius of curvature of a spherical mirror is 14 cm, then find its focal length.

1+1+2=4

S-07-Science




16

66

S-07-Science




